Specification
= - Pos. Type DIN Pcs.
PARBAUDITS Plate 60x20x3 M6 1
2017-11-08 1 M6x10 7380-A2| 1
M6 washer 125-A2 [ 1
Plate 30x20x4 M6 1
2 M6x10 7380-A2| 1
M6 washer 125-A2 | 1
3 |M8 welded washer| 9021 4
@60 4 Plate 25x16x3 1
T S2
= calibrated top
— @60 x 100
Det. B
s1 Scale 1:10
( q B  Triangle
8 4_| q)q/Q B-B key
I S =
A ]
I\
Ve M10
o
g
g [® P2 gy
B ™
A A
LO 77f_\ [
o)
<
S
g
~ Det. B
o
o
o
o
o 1
=)
S ﬂ F
o
o
o
@125
Owner: : Title: Sect.. @: Steel: Thickness:
il ECNOPAL Tecnopali CP 5500 S1 S235JR 3.0
NORTH EUROPE [Drawn by: L.Simanis S2 60 S235JR 3.0
Kvei;?;nr:i’f)adljsaigvmﬂii pf:?:ﬁf Checked by: . . Item no.: S3
Bhone 371 67148855 Y*M.Simanis " CP5500-60/125 ¢ S4
E?Q;Z;(fzg‘tiﬁﬁﬁpm Rev.: Date: Sc.: Weight.: Galvanized.: |S5
www tecnopalilv 0 03.11.17| 1:30 38 kg | EN 1461|S6



siman
Pārbaudīts




